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(a)

Find the next three terms in each of these sequences:
(i) 8,11,14,17,20, ... (i) 4,7,12,19,28, ...

Al
23 26, 19 32,52,67

A sequence starts 1,4,9,16, 25, .... Find the 20t number in this sequence.
Un= n® ML ¢ woondly cteogased  tegurce
» = 20" = 4oo

boo Rl

Find a formula for the n'" term of the sequence which starts 7,9, 11,13, 15, ...
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| have asequence where each term is the sum of the two terms before it. | have
forgotten the first three numbers in the sequence, but the fourth to eighth
numbersare4,7,11,18, 29. Find:

(i)  thetenth number
"1 23 45 ¢ 7990
un|2' 3 & 7 WG 947
o

oo 43 6 47 gu MO 7¢  Af

(i) the first number =2 Fibored



2) (a)

(c)

Simplify:
(i) 5x+ 2x—3x

..................... Goc AL
(i) 3ab+ 24 + 4ba - 24
.............. 70\[;}41[2]
(iii) 5x — (2x + 1)
1 Al
—r
............... gf’([z]
lfp=5gq=2andr = -3, find:
() 2p+gq
L 2. W b
(i) pg—r
..................... (3 AL
(i) =2
(3)" 45
.;—?i"—“ Ml e sobshibbon
....................... 7’“[2]
Ifa—b = 5,find the value of 3a — 3b.
B AL (1]




Freddie hasfive times as many sweets as Marcus. If Marcus has x sweets,
write down an expression for how many sweets Freddie has.

6x A\

(if) Freddie gives six sweets to Marcus. Write down expressions for the
number of sweets each has now.

Freddie... 97°C — 6 varcus. X+ 0 j"\l

Freddie now has three times as many sweets as Marcus. Using your
answers to part (ii), find how many sweets Marcus started with.

(iii)

Sx-C ot = 37

5906 72(9C+é) ML Co/‘wl/\b o Cogveok jon
6"1_-6 = 3 +1¢

A = Ak

x =&

A<l A1



3) (a) Forthelistof numbers: 8§, 3,6, 8,@6@ 8, find:

(i)  the mean

Se _ . (%

T e CF
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ML for covel calubbon, 674 e Al
y I 24+4S+6+4A+6+6¢18
(i) therange  *" 2

5 4

(b) Six boys and four girls take a test. The boys get a mean score of 71 and the girls
get a mean score of 74. Find the mean of all ten children.

(Cx71) + (4x74)
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(3x71) + (2672) 23+ 149
S

1
;
0

|

g 2.2 o Al

(c) [Ithink of four whole numbers.
The mode of the four numbersis12. => 1Z i incheld tore ton oace
The median of the four numbers is 10. => #e overmse & fo rille [=>oc g 12,12

The range of the four numbers is 5. nmbrs b0
\\
Find the four numbers. 2 %4Con
x=7

1,8 12,012 1



(a) Simplify the following:

(i) m?xmd

M Al
(i) &
clg Al
(iii) (x*)?
12
Z Al

(b) 163 = 4096. Use this fact and your answer to part (iii) to find '3/4096.
] ?
& —
L= (2") = fo%
\_’_/_)
™ A Al

(c) Circle all the numbers below which are multiples of 12. There may be more
than one answer.

24 x 3 x7*x11 ) hL 2 x3%x52x7%x112

26 x 53 x 75> x 113 2 x3%2x5%x7%x113




5)

(a) Calculate the following:

, 3 1 oy g3
(l) Z_E (”) 'fx}_o'g MI 0.1\3 LO/"ec}'
relfuos!
( anty
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26 2 20 rtfhod
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................... 20........ AL 5 AL
(i) 22412
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3L 4%
g
b= om0 2]
(b) Showthat1§x§=1
[ S & & _ 20
{—4; s Z z /s‘ > — =1
L—— © 1]
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(¢) The price of a diamond ring is increased by 25%. The following week it is
reduced back to its previous price. By what percentage was it reduced?




(d) Write down the value ofg x g x 2 x g x

(o)}
D w
X
wIN
X
N =

(
............... 3 4([1]

(e) TimandAlannahave to mark some exam papers. |f Tim worked alone it would
take him 12 hours to mark them all. If Alanna marked them all it would take
her 6 hours to mark them all. How long will it take them to mark all the exams
if they do the marking together?
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6) (a) Find the size of each of the angles marked with letters. The diagrams are not
drawn to scale so you cannot measure them with a protractor:

(i) a

/0 50

(i) —>——t 7

v
36 | [AN——_
d= 2 Al
(b) Find the area of this trapezium.
gcm
[
6em
.
12cm

bSOC 0
b= %0’ Al
c= 700 A\

(/ ?:2') ~<6 M( (g,[;o M gor
ahm'ol' '
= éOwQ $slve ‘9‘3

Area = GOC—MZ Al



5cm

(¢c) Findthe perimeter and area of the shape shown.

(Ocr- 10cm
3cm bem

~ -

4cm lem

12cm
M1 eiderce of oblopt fo
Frol  area by  Copoun|

Shapeq

ML for evidince o Conet
reflod  Gncl i one miled k/%)

“
Perimeter = 5%em Al Area = Cl%m A

(d) Inthis question,the square and the triangle have the same perimeter. Find the
ratio of the perimeter of the irregular pentagon to the perimeter of the square.
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End of test. Now go back and check your work.



